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How Much Carbon Is in a Tree?

Use this table to find a rough estimate of the amount of carbon stored in a tree on the basis of the tree's

circumference at breast height (CBH) and its height (H). The estimated amount of carbon is in kilograms.
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0.0567 + 0.5074 x (CBH/w)* x H. It assumes that D_ = 0.6 g/cm?, and that

These estimates are based on the formula: M (mass of carbon in the tree) = 0.5x M (mass of the wood), where M = 0.55

w

xV (volume of tree) x D (density of wood); V
water makes up 45 percent of the tree’s mass.
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